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U.G. 6th Semester Examination - 2020

PHILOSOPHY
Course Code : BPHIDSRT-3 & 4 (DSE 3 & 4)

Full Marks : 40 Time : 2 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

This question papers contains both DSE 3 & 4.
Students are thereby instructed to answer DSE paper
out of these two (DSE 3 & DSE 4) as he/she opted for.
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Title : Methods of Inductive Logic & Probability
Code : BPHIDSRT3 (DSE 3)

1. Answer any ten of the following questions:
1x10=10
fFrafife @-@ieT wib g Ted me ¢
a)  What are the theorems of probability?
AT gl [ 2
b)  What do you mean by the term 'cause'?
Pl *rr w2

[Turn Over]

d)

g)

h)

i)
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What do you mean by the singularity of cause?

QPN FICP AT 2

How do you determine the probability of the
occurence of an event?

(I <51 oI ATl el @ 9@l a9z 2
1o =1 |

What is favourable outcome?

e *[S FIF A0 2

Give a symbolic example of the method of
agreement.

SRS srafed Gl AERoT Suizael IS |

What is the fallacy of non-observation?
S-SR (M PP 2

What did Mill claim about his methods of

experimental enquiry?

e O omfosl F>E & M T2

What is the limitation of the method of
Concomitant Variation?

ARG ofion ISl (PR 2
Identify the method:

Antecedent Consequent
ABC abc
BC be

-. A is the cause of a
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sIe Ao Sniegelfb (i Aaiors W w02

g

7[41 Segal

ABC abc

BC bc
s A e a-9F FIF |

What is necessary cause?
SR %S FIE A0 2

Give name of one philosopher who admits

the plurality of cause.
GFe RO R AN |

Between cause and effect, which one is

consequent and which one is antecedent?
IR @R PR T (@ 20 9% FIT Sl 2

If a coin is thrown one time, what will be the

probability of getting head of it?

G JI(F G B FACE O (RS 7 Aol
&2

What is remote cause?

VRG] IR IS A0 2
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Answer any five of the following questions:

2x5=10

afkiRe @@ vl arz Sea we ¢

a)

b)

c)

d)

g)

h)
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Explain the Addition Theorem of Probability.
ABRyel @R @R @t e 9

What is plurality of cause?

@AM e

Give one characteristic of the method of

Concomitant Variation.

RS oo g AfiY (w19l

What are the theorems of probability?
AERYOR Jqafel [ &2

Give the definition of Experimental Method.

I oo IR 7S |

Explain the Multiplication Theorem of
Probability.

TRrel fefEa @ @ il 79

Give a real example of the method of

Difference.
Fo@F! *afed @ BT TUIEFS 7S |

What are the two theories of probability?
AERyOR 4 Weqm 6 62
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3. Answer any two of the following: 5%x2=10

s @-CHie 7io amiw Tex mle ¢

a) Explain the characteristics of the method of
Residue.

AR sfmfen (aREale =)

b)  Which method of Mill was used to discover
the existence of the planet names Neptune?
Explain.
w4 2cAfRe 2 W 9

c) Explain the Relative Frequency Theory of
Probability.

A ATS: Al ©GH AT 4|
4.  Answer any one of the following: 10x1=10
fraffe @-@iE b 2e Te ns ¢

a)  Explain the Joint Method of Agreement and
Difference.

S-SR A& I w4 |

b) Can the methods of Mill be claimed as the

method of proof and discovery?
e mfoef & oifiem ¢ ewd-aq om&fe
f&arica midl =1 AR 2
c) 1)  Define the Apriori Theory of Probability.
2
TERTOR sj7e:ha ogba A<esl e |
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ii)

Determine the probability of the
following: 4x2=8
ffafis oalefem werrel Fda 59 ¢

A)

B)

There are six blue marbles, three
red marbles and five yellow
marbles in a bag. What is the
probability of getting a blue or red
marble on the first draw?
a3fs Afeice b st @fer, feal a1l
&l @ Il zaw ofd ez @ o
(AT G0 @6l TeAel O Tiel Sl
&Il 299 Al [ 2
A dice is thrown once. Find the
probability of the following:
G0 IR Yo T uaIF (Riel 23,
oizte famfafis [rgefq <o
Al ¢ 7de
I)  an even number
G (GG AL SN
II) an odd number
g6 Rere A<l G
) a number greater than 3
Gfs 722 A foT-a (A (A
SRR
IV) a number between 3 to 6
G A A fo @R wI-aF
M AT ©f SR
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Title : Nyaya
Code : BPHDSRT4 (DSE 4)

1. Answer any ten of the following questions:

1x10=10

Fafiie @-@IE Wit ari Tex wie ¢

a)

b)

d)

g)
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Which system does the Tarkasamgraha

represent?

CEIRAR (I WL 2 2
Define Buddhi.

fad o e |

How many kinds of jnana are admitted by

the author of Tarkasamgraha ? Name them.
SRR FALDI ST (R, ST (1% (72|
What are the five members of Pancavayavi
Nyaya ?

AR VIR AT = 2

What is linga?

forer 2

What is Karana?

Il Fl2

What is anumana ?

SIS FICF A0 2
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h)

i)

k)

D

0)

What is vyapti?

Y T F (@RI 2

How many anumanas are there?
TP S FFIE F 2 ?

Which hetvabhasas are direct obstacles to

anumiti or inference?

@ @ EGOF Ao SR e
27

What is purvavat anumana ?
A SN FIC 2

What is sesavat anumana ?

([ I FICF T 2

What is anvayavyatireki anumana?
S-S SR FICE A2
What is Kevalanvayi ?

(PRI FICP A0 2

What is Kevalavyatireki?
(FE-feca <@l [ @R

Answer any five of the following questions:

2x5=10

ke @@ v ame Teg ne ¢

a)
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What is aprama? How does it differ from

prama?

S FIE A2 A AL G AL 2
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b)

g)

h)

What is paksa ?

7% JICP AT 2

What is paksadharmata ?
SRl I T 2

What is linga paramarsa ?
forer sfsrl ICs Qe 2

What is hetvabhasa ?

(XRQIO F(F AT 2

What is Badhita hetvabhasa ?
S (2P FICS AT 2

What is viruddha hetvabhasa ?
fem (2grer! FICS T2

What is satpratipaksa hetvabhasa ?
Al (TR FF A 2

Answer any two of the following:

frsffe @i 7o ami Tex nie ¢

a)

b)

c)
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How is vyapti established?
ife e dfePe 232

Explain in brief samavyapti and asama vyapti .
TEFEC! AR @R SN SCEna 9

Discuss about the laksana of smriti.

“gfox =T SCETbel |
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Answer any one of the following: 10x1=10

Fafiite @@ @Fb amiw Teg we ¢

a)

b)
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Following Annambhatta give a full account of
paramarsa .

SERSG(F SEPRE A A 2foff5r it 34

Distinguish between svarthanumana and

pararthanumana .
Fifgue @R AL AL SACAD 4 |
Why is buddhi called 'sarvavyavahara hetu'?

Distinguish between anubhava and smiriti after

Tarkasamgraha .

e TR (XY T T (I 2 SR SPARel
I ST @ Yo 2N Sl |
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